Question Paper Preview

Notations:
l.OptiOﬂS shomwl in greer color and with % icon are correct.

2 .Options shown in red color and with % icon are incorrect.

Subject Name: UPENUMNL TECHMICIAN GREADE 2 ELECTRICAL
Duration: 180
Total Marks: 200.0

Question Number : 1 Question Id : 11223 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following is not a type of safety in Occupational Safety?

Options:
1 % Machine Safety

- % Body Safety
5 % Work Safety

4 + Road Safety

Question Number : 1 Question Id : 11223 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 2 Question Id : 11224 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A tube of is kept in a first aid box for healing of wounds.

Options:
. % Soframycin

> % Penicillin



-  DBetadine

4 % Fair and Lovely

Question Number : 2 Question Id : 11224 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 3 Question Id : 11225 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

If the fire is caused due to oil. petrol or electric faults. the type of extinguisher used is
Options:
, % Sodaacid type

o % Foam type

4 % Carbon dioxide

Question Number : 3 Question Id : 11225 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 4 Question Id : 11226 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



The following figure is a symbol for

%
A

Options:
1 ® Fuse

> % Fault
= « Danger of Electric Shock

4% Danger on Electric panel

Question Number : 4 Question Id : 11226 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 5 Question Id : 11227 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The shape of an Informative sign is

Options:
= Rectangular

5« Square

= % Circular



4, w Iriangular

Question Number : 5 Question Id : 11227 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 6 Question Id : 11228 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following is not a type of file?

Options:
1 # Square file

> « Rectangular file

- w Triangular file

4 % Flat file

Question Number : 6 Question Id : 11228 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 7 Question Id : 11229 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The gauge of Super Enamel wires is measured by

Options:
1 Screw gauge

5 « Wire Gauge
- % Hand Drill

4 = Steel Rule

Question Number : 7 Question Id : 11229 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
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Question Number : 8 Question Id : 11230 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Insulation of wires is generally removed by

Options:
1 % Flat file

o  Wire Stripper
= % Pipe Rinch
4 % Scriber

Question Number : 8 Question Id : 11230 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 9 Question Id : 11231 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If the teeths of a tenon saw are worn out. in order to make the teeth sharp

Options:
, « ltmustbe rubbed with a triangular file.

> % Itmust be tempered

z ® Teeth’s must be heated

4, % ltmust be rubbed on the floor.

Question Number : 9 Question Id : 11231 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 10 Question Id : 11232 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In order to straighten the sheet of iron, 1s used.

Options:

1 « Mallet

- % Hack Saw
- % Flat File

4 % Drilling Machine

Question Number : 10 Question Id : 11232 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 11 Question Id : 11233 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The potential difference across a parallel combination of resistance is
Options:

1 & Same
» % Different

- % Depends upon the magnitude of resistances

, % Depend upon the effective resistance

Question Number : 11 Question Id : 11233 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 12 Question Id : 11234 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Charging an uncharged body cannot be done by the means of

Options:
1 # Conduction

> % Induction
- % Friction

. Rotation on its axis

Question Number : 12 Question Id : 11234 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 13 Question Id : 11235 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Mass of an atom 1s assumed to be

Options:
;% Mass of neutrons only

> « Mass of neutrons and protons

= % Mass of electrons

4 % Mass of electrons and protons

Question Number : 13 Question Id : 11235 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 14 Question Id : 11236 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Three identical resistors are connected in series in a circuit connected to an 18 V supply
where current flowing is 1 A. The value of each resistance is

Options:
1 % 1 ohm

> o 6 ohms

% % 9 ohms

4 % 18 ohms

Question Number : 14 Question Id : 11236 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 15 Question Id : 11237 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

1 coulomb is

Options:

| 1 Ampere/second
> % 1 Ampere second
= x 1 Watt/Kelvin

4 % 1 Watt/Second

Question Number : 15 Question Id : 11237 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 16 Question Id : 11238 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
Instrument used to measure electrical pressure is

Options:
| « Voltmeter

- % Wattmeter
= % Ampere meter

, % Power Factor Meter

Question Number : 16 Question Id : 11238 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 17 Question Id : 11239 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

G-I wires are
Options:
; % Not suitable to be used as stay wires

- % Notmalleable

o % Galvanised aluminium wires

4  Corrosion free

Question Number : 17 Question Id : 11239 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 18 Question Id : 11240 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Energy gap in insulators is

Options:



1 + Quite high
> % Quite low
= % Not available

4 % Same as that of semiconductors

Question Number : 18 Question Id : 11240 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FHelToTehl 3 FAT T

Options:

1.%’3?4-@?[?’-

o W ﬁmm?‘-
3 % oTel @I &
, » FOTSH F FA B B

Question Number : 19 Question Id : 11241 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

We will be going to make a

Options:
1 % Diode

-~ % P type semiconductor

= « N type semiconductor

4 % Insulator

Question Number : 19 Question Id : 11241 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 20 Question Id : 11242 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Eureka wires are generally used in

Options:
. ®% Windings

- % Earthing

if we mix phosphorus with silicon.



=« Starter

4 % Heater

Question Number : 20 Question Id : 11242 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 21 Question Id : 11243 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The type of wire used in areas having high rainfalls is
Options:

1. % PVC wire

> # VIR wire

= « Lead Sheathed Wire

4 % Flexible Wire

Question Number : 21 Question Id : 11243 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 22 Question Id : 11244 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Super voltage cable has the transmission voltage of

Options:
. % 1kVto 11kV

- % Below 1 kV
2« 11 KV to33kV

4% Above 33 kV

Question Number : 22 Question Id : 11244 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
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Options:
1% 1kVE 11 kv

> % 1kvH &H
2 v 11KVH 33 kv
4 % 33kvH SIET

Question Number : 23 Question Id : 11245 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

On the basis of fields of application, which one of the following is not a type of cable?

Options:
1 « Submarine

- % Domestic Power
- % Telecommunication

4 % Industrial Power

Question Number : 23 Question Id : 11245 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 24 Question Id : 11246 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which one is the best insulator amongst those which are given below?

Options:

1 % Mica

5 % Porcelain
- % Glass

4 « Bakelite

Question Number : 24 Question Id : 11246 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 25 Question Id : 11247 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Soft soldering is done at a temperature

Options:
1 « Below 450°C

- % Of 800°C
% % More than 600°C

4 % At 540°C

Question Number : 25 Question Id : 11247 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 26 Question Id : 11248 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The melting point of tin is

Options:
1 ® 502

- % 396°C
= ® 416°C
4 2321

Question Number : 26 Question Id : 11248 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:

1 # 502eC

5 % 396°C

= % 416°C

4 o 232°C

Question Number : 27 Question Id : 11249 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
is done primarily before soldering.

Options:
1 % Tacking

> % Floating

inning
3 o Timing

4 % Introduction of flux

Question Number : 27 Question Id : 11249 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 28 Question Id : 11250 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Specific resistance is expressed in

Options:
1 % mho

5  ohm meter
= % mho meter

4 % ohm

Question Number : 28 Question Id : 11250 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 29 Question Id : 11251 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A 1 kilo ohm resistance is introduced to a 1.5V source. The value of current will be

Options:
; ® 1.5A



> % 0.15A

3 % 1500 A
., v 0.0015 A

Question Number : 29 Question Id : 11251 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

1.5V ET F 1 5Far 3Ed F1 9oty a9 9 W 99T F 9T # A9 Gaar
g

Options:
1 % .15A

5 % 0.15A
5 % 1500 A
4 « 0.0015A

Question Number : 30 Question Id : 11252 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Wattmeter is used to measure

Options:
| % Energy

5  Power
- % Vvoltage

4 % Current

Question Number : 30 Question Id : 11252 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 31 Question Id : 11253 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

A 3-pin socket has the largest hole of

Options:
1 % Phase

> % Neutral

-  Earthing

4 % Cannot be determined



Question Number : 31 Question Id : 11253 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 32 Question Id : 11254 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The following figure represents

Options:
1 ® ACB

> « OCB
- % MCB
4 % ELCB

Question Number : 32 Question Id : 11254 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Options:

.« THET (ACB)
.  JAEET (OCB)
5 » UHHET (MCB)
, » SUSTHET (ELCB)

Question Number : 33 Question Id : 11255 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Terminals of electrical accessories should be made up of

Options:
| % Copper

5 ®% Zingc
= % Iron
4  Drass

Question Number : 33 Question Id : 11255 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 34 Question Id : 11256 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following is not a type of Electrical Accessory?
Options:



1 # Control Accessory
> % Safety Accessory
-  Insulating Accessory

4 » Conducting Accessory

Question Number : 34 Question Id : 11256 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 35 Question Id : 11257 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

An Intermediate switch has

Options:
1 ® 6 terminal

> % 3 terminals
3 % 4 terminals

4 + 2 terminals

Question Number : 35 Question Id : 11257 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 36 Question Id : 11258 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In Batten holder. a plastic shade is provided in order to protect it from

Options:
1 % Sunlight

> % Overflow of current

3 « Rain water



4 % Storm

Question Number : 36 Question Id : 11258 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:

Question Number : 37 Question Id : 11259 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A ceiling rose is usually fitted on
Options:
1 % Windows

5 « Walls
z % Doors
4 % Switch board

Question Number : 37 Question Id : 11259 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 38 Question Id : 11260 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In Air Circuit breaker, the formation of arc is stopped by

Options:
|« AIr pressure

> % Oil pressure
5 % Use ofrelays

4 #% Water pressure

Question Number : 38 Question Id : 11260 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 39 Question Id : 11261 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Switch. socket, plugs. holders etc. are made up of

Options:
1 % Ebonite

5 % Copper
= + DBakelite
4 % Mica

Question Number : 39 Question Id : 11261 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 40 Question Id : 11262 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Match the following uses of MCB in List I with its type in List II.

List-I List-II

1. Lighting Circuit a. Black nob

2. Motor Circuit b. Red nob

3. Isolator ¢. Blue nob of G series
4. D.C. Circuit d. Green nob of L series
Options:

1% 1-a, 2-b, 3-c 4-d

> wl—-d, 2-c 3-b 4-a

z % =8 ‘Z~d 3=5 4-¢

]

4 % 1-Db, —cC, 3-d. 4—a



Question Number : 40 Question Id : 11262 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:

1 % 1-a, 2-b, 3—-¢c, 4-d
5 of 1-d, 2-¢ 3—-b, 4-a
3 R E=ay Eesdy Al Aew
4 % 1-b, 2-¢, 3-d, 4-a

Question Number : 41 Question Id : 11263 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The full form of E.C.E. is

Options:

1 « Electro Chemical Equivalent
5 % Electro Chemical Electrolysis

= % Electrical Contact Earthing

, % Electrical Control Equivalent

Question Number : 41 Question Id : 11263 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 42 Question Id : 11264 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The terminals of a Lead Acid battery is made up of

Options:
1 « Lead

5 w Copper

2 ® Zinc



4 % DBrass

Question Number : 42 Question Id : 11264 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 43 Question Id : 11265 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In order to extract more voltage from the cells, they are connected in

Options:
1 « Series

> % Parallel
- w Either series or parallel

4 % Cannot be determined

Question Number : 43 Question Id : 11265 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 44 Question Id : 11266 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The depolarizer in a dry cell is
Options:
1 % Water

5  Manganese dioxide
= % Rubber
g *® HC1

Question Number : 44 Question Id : 11266 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 45 Question Id : 11267 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A piece of metal weighing 100 g. It has to be covered with a layer of gold. If the current
flowing 1s 10 A and ECE 1s 0.00068, then the mass of gold layered on it in 25 minutes will

be?
Options:

Question Number : 45 Question Id : 11267 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:
1 ® Q8 arH

> % 102 aH
- % 11.2aA
4 102TMH

Question Number : 46 Question Id : 11268 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

In a delta connection.
Options:
, % Line voltage = Phase voltage

> % Line voltage = Line current
5  Line current = V3 Phase current
4 % Line voltage =0

Question Number : 46 Question Id : 11268 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 47 Question Id : 11269 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Phase voltage is measured between

Options:
1 « Line and neutral

- w Line and phase

z % Line and line

4 % Phase and neutral

Question Number : 47 Question Id : 11269 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 48 Question Id : 11270 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Power factor of a circuit is determined by
Options:
;% Ampere-meter

> % Voltmeter
=  Power factor meter

4 w Phase sequence indicator

Question Number : 48 Question Id : 11270 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 49 Question Id : 11271 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Neutral is achieved by

Options:
1 Star connection

5 % Delta connection

- % Parallel connection

4 % Any type of connection

Question Number : 49 Question Id : 11271 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 50 Question Id : 11272 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a two watt-meter technique. the total power is

Options:
1 W=W; +W>

5> % W=Wyq-W;
2 % W=W; X Wy

4 ® W=Wy [ Wo

Question Number : 50 Question Id : 11272 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

grare-AIeY dohellsh ¥ 3THR, Fol AfFd &l & ?

Options:
1 o W =W, + W

5 % WSWi- Wy
2 ® W=W X W3

4 % w=w/w;

Question Number : 51 Question Id : 11273 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Which of the following is filled around the earth electrode to reduce the resistance of earth?

Options:
1 + Salt and coal

> % Wood
= % Water

4 % Copper and zinc

Question Number : 51 Question Id : 11273 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T IR FF = F BT 3w seEge % HEAE FAT T ST 8

Options:
| v AHF TF HTer

o % AFS

T W el
4 % OrFET T FAE

Question Number : 52 Question Id : 11274 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

According to the IS code, the colour of earthing wire is

Options:
1 #% Red

> % Black
= « QGreen

4 % Yellow

Question Number : 52 Question Id : 11274 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ISHIE F AR, T AR FT 7T v g & |

Options:
1, % offel

o W hledl

3.« 80
4_%%

Question Number : 53 Question Id : 11275 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following is earth electrode in plate earthing?

Options:
1 = Pipe electrode

> % Rod electrode

2 « Plate electrode



4 % Gnd electrode

Question Number : 53 Question Id : 11275 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

wore #fer 7 AAfof@a # & Fi9 @ 3 seels g 82

Options:

1_23@33"@3
> % TS FolweIs
e s
 » s T

Question Number : 54 Question Id : 11276 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

In an AC circuit, if reactance is zero. then the power factor will be

Options:
1 % Zero

> % Infinite
5  Unity
4 % Cannot be determined

Question Number : 54 Question Id : 11276 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

T ACTROY #, Ife AT 1 A1 o7 §, 79 ufsa IUn 1 AT gem?

Options:
1 % YT

g_ﬁmﬂ
3_\-;/33'73
, « vl @ RRar ST wehar §

Question Number : 55 Question Id : 11277 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



The figure shows that the A.C. quantities are

Options:
| « Inphase

> % Out of phase leading
= % Out of phase current lagging

4 % Outof phase voltage leading

Question Number : 55 Question Id : 11277 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T =T @ar £ 7 ac 9fi@mr 2

Options:

v A HE

. o A ¥

- % ol C oIl H A E
, % BT dlecs oif$a ¥ &gl §

Question Number : 56 Question Id : 11278 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The unit of inductance is Henry but the unit of inductive reactance is

Options:
1 ® Henry per meter

> o Ohm



= % Ohm meter

4 % Ohm per Henry

Question Number : 56 Question Id : 11278 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

3UMEA ($5FEH) FY $HE FAN &, Weq ssfFes AT i HE e ¥

Options:

| % g 9fd A

2_\-,«—*31'1%??
T W mmﬂ

L, » HEA 9T &

Question Number : 57 Question Id : 11279 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Frequency is directly proportional to
Options:
| « Inductive reactance

> % Resistance

s % Capacitance

4 % Admittance

Question Number : 57 Question Id : 11279 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

L HTF ¢ |

Options:
| v SSTeT TEE #
> % Sy &%
5 ® UTRET (IR
4 » TSAEE &

Question Number : 58 Question Id : 11280 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which value of AC is measured by ampere voltmeter?

Options:
| v RMS

- ®% Average
% % Maximum

4 % Minimum

Question Number : 58 Question Id : 11280 Question Type: MCQ



Correct : 1.0 Wrong: 0.25

ACH TFE AT F TFIIT diccAlRT ¥ AT &7

Options:
|  3NTHATH (RMS)

2.%3“1“
z % 3=<dH
4 % TgddH

&

Question Number : 59 Question Id : 11281 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The r.m.s. value of current whose maximum value is 200 A is (approximately) equal to?

Options:
L % 112A

- % 100 A
2 V141 A

g *® 127

Question Number : 59 Question Id : 11281 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ST YRT T RMS AT (S191379T) 47 2o Sgehr 3ifeeras |1 2004 87
Options:

1 ® 112 A

5> % 100 A

3 & 141A

4 % 127A

Question Number : 60 Question Id : 11282 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The quantities which vary sinusoidally with time are known as
Options:
1 % Scalar quantities

- % Vvector quantities

- % lensor quantities

4 + Phasor quantities

Question Number : 60 Question Id : 11282 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

F RN S FAT F WY WEFHSTeH (sinusoidally) TEelcll Tl &, Fgoeh &2
Options:

|« Hfger gfer



. w GG Tl
4_gzﬂlﬁlTTfﬁT

Question Number : 61 Question Id : 11283 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

LED is power rated in
Options:
1 % Watts

> « Miliwatt
z % Kilowatt

4 % Megawatt

Question Number : 61 Question Id : 11283 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

RS | r iy rr) — TEar g |

Options:
| % dAEH

o Feirare

S_Qﬁmm
4 % HIAMEE

Question Number : 62 Question Id : 11284 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Increase in conductivity on heating happens in the case of
Options:
1 % Conductors

> % Superconductors
z % Metals

4 Semi-conductors

Question Number : 62 Question Id : 11284 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TH A T IATAHhdl FT 98T 8+ AHT H gar &2

Options:
1 & Tels

> ® o=+
3_23"11_@:
4 TS



Question Number : 63 Question Id : 11285 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Germanium can be made an n-type semiconductor on doping it with
Options:

, « Phosphorus

- % Silicon

= % Carbon

4 % Indinm

Question Number : 63 Question Id : 11285 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FHATHE S Afa@aT § ¥ 59 ¥ @9 n 991 7 39 9937 31 GhdT
&7

Options:

| BIEHH
gﬁﬁﬁﬂ;‘rﬁ
3 % FHEd
4 % TR

Question Number : 64 Question Id : 11286 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The electrons from N-side of the junction combine with the holes from P-side due to
Options:

, % Drifting

> % Merging

= % Recombination

4 + Diffusion

Question Number : 64 Question Id : 11286 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

------------- ?ﬁ'm?mFQ?n—W*WDm*m?mmm

Options:

1.23%'%

Question Number : 65 Question Id : 11287 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



The number of valence electrons in germanium is
Options:
1 #® 2

o % 3

3.#’4
4.%5

Question Number : 65 Question Id : 11287 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

FTHATR I FOST SoraelT (o0 Soaeld) B HEAT @
Options:
1_[)%2
o % 3
3.¢ 4
4 % 5

Question Number : 66 Question Id : 11288 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

A LED emits light in condition.

Options:

n Forward biased
- % Reversed biased
= % Unbiased

4 % Unknown

Question Number : 66 Question Id : 11288 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

OHLED. e HTEAT H T SchAT FLT g
Options:
|  FT TAWS (forward biased)

. % ¥ FATEA (reversed biased)

. % HEIRAA (unbiased)
EE HAT

Question Number : 67 Question Id : 11289 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The value of PVIrating of a diode is
Options:
| Maximum value of the secondary voltage

5 % Maximum value of the primary voltage



5 ® Minimum value of the secondary voltage

4 % Minimum value of the primary voltage

Question Number : 67 Question Id : 11289 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

S Er pvI IR T AR g g
Options:

| ST Seedl F AR A
. AT Jocdr T HAFIH AT
o % SI9dTs Jeedl F FAdH A

gTAtAE Jeear Fr =AdH Al

4 %

Question Number : 68 Question Id : 11290 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Following is a characteristic curve of

Emirced ¢

Lizht

fra)

.+
L LmAY

Options:
| % Varactor diode

- % Solar cell

-  LED

4 % Photodiode

Question Number : 68 Question Id : 11290 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



f&ar g3 R Rrmer sfFenerioer =% &2

SOt ¢
b EDEL

{raw)

_'
LimAYd

Options:

1. % NF TS
. % HIOR &l

-  TOISSI (LED)
4 % I SIS

Question Number : 69 Question Id : 11291 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A solar cell is
Options:
1+ Photovoltaic device

> % Photoconductive device

= % Photoemissive device

4 % Photoradiative device

Question Number : 69 Question Id : 11291 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

AET AT @ g

Options:

| « PlaEedd IF
b
5 % DTS T

. » BRITHATET I
4%qﬁa?%trﬁ7=r:d?r

Question Number : 70 Question Id : 11292 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The effect of reverse biasing on diodes is
Options:



, « Increases barrier potential

- w Reduces barrier potential

- % Nullifies barrier potential

4% Has no effect on barrier potential

Question Number : 70 Question Id : 11292 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A 99T TITET Bl F TH |

Options:

1¢Wﬁﬁmaﬁ?
gﬁmﬁmmmg
- 4T foorT #F Fw FT AT §

4 % AR Rptg W FIE w39 AEF 9=ar

Question Number : 71 Question Id : 11293 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Number of diodes used in a half wave rectifier is
Options:
1 k3 0

2 ¢ 1
3_333

4.23"-1-

Question Number : 71 Question Id : 11293 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T e Eewar & =aE & g Faar gdar g 2
Options:
1. %0
> ¢ 1
z ® 2
4 % 4

Question Number : 72 Question Id : 11294 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The electrical circuit used in a rectifier circuit in order to achieve a constant DC supply is
called as

Options:

1 % Oscillator
- « Filter

- % Amplifier



4 % Logic gate

Question Number : 72 Question Id : 11294 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U §HAA DC HCATS 9T 3 & oI YFeEnR aRay # &g Rega aRayr ——
----- FgelldT g

Options:

| % e

> v fiheex

. x TIUF (TFRIHIY)
4 % WP AT

Question Number : 73 Question Id : 11295 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

An arrow pointing outwards in a transistor symbol represents
Options:

| & Emitter

5 % Collector

- % DBase

4, w OVer current

Question Number : 73 Question Id : 11295 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

gitere Reg & 98T i AR IR e Jrell dll Fgallal g .

Options:

| v THIA
5 % “holdel
5 % aF

4 % FHE

Question Number : 74 Question Id : 11296 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

On increasing temperature. the collector current
Options:
1 « Increases

5 % Decreases
z % Becomes zero

4 % Remains unchanged

Question Number : 74 Question Id : 11296 Question Type: MCQ



Correct : 1.0 Wrong: 0.25

dTTshH 98l 9T, Folded T
Options:

1_433?“'%’

Question Number : 75 Question Id : 11297 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a CRO, time taken by a beam to excite a definite area of phosphate can be adjusted by
control.

Options:
1 % Gain condition
> % Boundary condition
5  Time/division
w SWeep

Question Number : 75 Question Id : 11297 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

CROH, BIEhe F TH fAfed &7 I 3cafad = & v v 97 @y seaar
AT F .o fAgaor & vseTe fRar ST G g

Options:

| % T FERAF
o % ASF FIRMA
5 v FHIEEA
4 % TET

Question Number : 76 Question Id : 11298 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A crystal oscillator is a stable frequency oscillator due to
Options:

1 % Rigidity

> % Vibrations

= « High Q

4 % LOWQ

Question Number : 76 Question Id : 11298 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



............... — ¥ HRUT FhEed Afderets R sngfca ideeT ¢ |
Options:

1. % Bt

o % “hFHel

3 ¢ 3%9 Q
. % 5 Q

Question Number : 77 Question Id : 11299 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The maximum efficiency of a class-A power amplifier is
Options:

1« 50%

o W 60%

Question Number : 77 Question Id : 11299 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

- A ofFg yais Fr 3fO=Faw gerar o AT

Options:

2 ® 38%

Question Number : 78 Question Id : 11300 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following. internal composition does not contain four layers?

Options:

5 % DIAC
5 ® TRIAC
4 B SCR

Question Number : 78 Question Id : 11300 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

i@ # ¥ FF Fr 39+ @ #§ I/ T 78 2ar &

Options:



v T (um)
. % STHTETAT (DIAC)

- » CINNIATSTH (TRIAC)
4 % THHIAR (SCR)

Question Number : 79 Question Id : 11301 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following contains only one input and one output?

Options:
1 « NOT gate

> % NOR gate
z % NAND gate
4 % AND gate

Question Number : 79 Question Id : 11301 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

frafaf@as & e % vs 3age aur s smseqe & &2

Options:
. ¢ NOTJE

> % NORJE
-z % NANDIT
4 % ANDAT

Question Number : 80 Question Id : 11302 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The decimal equivalent of (1110), 1s
Options:
1 ® 10

5 % 12

3_¢14
g w 16

Question Number : 80 Question Id : 11302 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

(1110), FT TIHAT TAJA ¢ :

Options:
1 ® 10



o W 12

4 w10

Question Number : 81 Question Id : 11303 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The resistance of Earth is
Options:
1 % Infinite

> % 1 Mega ohm
5 % 1 ohm
4 « Zero

Question Number : 81 Question Id : 11303 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

LA T I g

Options:

|« A

. » 13T 3EA
o » 130ER
A

Question Number : 82 Question Id : 11304 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A capacitor is connected across the supply line in order to
Options:
| « Increase power factor

. w Decrease power factor
5 % Protect the tube light from getting fused
4% Light up a tube light

Question Number : 82 Question Id : 11304 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

--------------- ~ S oIS & HN 9N U HURA (FAH) SRIar e g

Options:

| » IET TF T F v
L IR IO weE F fAT



. » SO W8 H WS B9 ¥ 9 F foU
4_ﬁwm#m$ﬁv

Question Number : 83 Question Id : 11305 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If a choke is not connected in a tube light. then it will be

Options:
, % Notlighten up

> # Remain being lightened
= « Get fused

4% Get lighten up after a small gap

Question Number : 83 Question Id : 11305 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

N TYIARE H TN Al oMl AT, A T§ -

Options:

1 & Hﬁm

SIJWEET

L » TO T TH F ol

Question Number : 84 Question Id : 11306 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Smoke. acid. base etc. have negligible effect on
Options:

1 % T.R.S. wire

> % V.LR wire

z % Flexible wire

4 + Lead Sheathed wire

Question Number : 84 Question Id : 11306 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Hlﬁ,m;mmm ------------ Wqﬂémaﬁmgl

Options:
1 % T.RS. dI¥

, % VIRAR



, v B R an

Question Number : 85 Question Id : 11307 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If an electrical composition possess a serious short circuit fault. then examining it with
megger. it will display
Options:

1.%I_‘l

5 % 1 milliohm
= « 1 Mega ohm
4 % Infinite resistance

Question Number : 85 Question Id : 11307 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

3R T fagga |3=ar # IS 957 of IR9Y AW g, df R & AT T W T8 -

Options:

1 *® D3-ﬂE?=|'
o % 1 fAelsER

- » 1FEAHER
4_%%%

Question Number : 86 Question Id : 11308 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

In a concealed wiring system, a saddle is established at approximately what distance from
the switch box?

Options:
1 « 30 cm

- % 40 cm
= % 60cm
4 % 1m

Question Number : 86 Question Id : 11308 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FHCS IANET & & dso [T99 H 999 T TRFT Fdall g W R A 82

Options:
1 « 30cm

- % 40 cm



=z ® 60 cm

4 % 1m

Question Number : 87 Question Id : 11309 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The Britannia joints are employed in
Options:
1 + Overhead lines

> % Underground line
5 % Conduit wiring

4 % Powerwiring

Question Number : 87 Question Id : 11309 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

feerfaar et v 39T SR amEr g
Options:

| o RIS SR A

o « IS A H
. TEES (Fifese) it 7
4 ® qumamﬂ?Tﬂ'

Question Number : 88 Question Id : 11310 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The ceiling fan should be at a minimum height of
Options:
| % 1.75 m

Question Number : 88 Question Id : 11310 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

AfelRT @ i FAT § ~YAdH FI15..... gl MU |

Options:

| % 175X
o o 25 HR

3 ® 5 HIeT

from the ground.



4 % 0.5 Hiex

Question Number : 89 Question Id : 11311 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A fuse works on the effect of current.

Options:
1 = Magnetic

-  Heating

- % Chemical

4% Static electricity

Question Number : 89 Question Id : 11311 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

. o T H
S_QW
4%1:%11?-13:%@3%

Question Number : 90 Question Id : 11312 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A 3-pole MCB is generally used in
Options:

, ® Showrooms

> « Small residence

- % Factories

4 % Marriages

Question Number : 90 Question Id : 11312 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T 3-9Tel MCB & 99T AT - T Srar & |

Options:
| ow MFAH

z_gﬁmﬁ
Sﬁmﬁﬁ

4_333ﬂﬁ-ﬂ1ﬁ



Question Number : 91 Question Id : 11313 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

There are number of end plates in the stator.

Options:
1 & 1

o o 2
z % 3
4.23"—1-

Question Number : 91 Question Id : 11313 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

XA B ot i §E.L BT §
Options:
1 %1
2. 2

3.233

4 % 4

Question Number : 92 Question Id : 11314 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

In an armature, winding is connected in

Options:
1 % Parallel

- % Series
-  Either series or parallel
4 % Cannot be determined

Question Number : 92 Question Id : 11314 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e o — ANy

Options:
. % HATHR FAH

- o AT T AR FH H
. w TIRT @ S T &

Question Number : 93 Question Id : 11315 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a DC generator, due to excessive tension in brushes,



Options:
, % Thevelocity of machine gets reduced

- % Terminal voltage gets reduced
- % lerminal voltage increases

4  Commutator gets heated up and layer worns out

Question Number : 93 Question Id : 11315 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

DC ST &, Pt H 3AMF T gl F FR0T ¢

Options:

L x AT AT FA S A E

- w CiAeTel alecdl HH & Al §

. w CIAee dleedl 9¢ ST §

, v I A g Jrar g 3T v B adr €

Question Number : 94 Question Id : 11316 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The parts A and B of a DC generator in the following figure depicts respectively.

Options:
1 # Commutator and Stator

> w Stator and Interpole

= + Interpole and Main pole

4, % Main Pole and Commutator

Question Number : 94 Question Id : 11316 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



2T 7 A 3R B DCIAET ¥ T T Frvefa wa 2

Options:

|, RFRETE () T R
., » T T U
B_Jmﬁg@q’lﬂ

4% HET 9iel Td FFgeel

Question Number : 95 Question Id : 11317 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The generator used for normal lighting and power supply is

Options:
1 DC shunt generator

> ® Series generator
- % Cumulative Compound generator
4 w Differential Compound generator

Question Number : 95 Question Id : 11317 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

TTAT AT UF Gy goals &+ O 939 & a3 9 Jrel SFa9{ed HiT a1 2

Options:

DC 21T FALET
1.9

o W ?ﬁ'ﬁ? EH:EI
L x FLFGART BT FRR
. w SHIRITE HA3E Al




Question Number : 96 Question Id : 11318 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

What will be the field winding copper losses of a DC generator when the curent flowing is
10A and inter pole resistance is 10 ohm?

Options:
;% 100W

5 « 1000 W
s % 1W
L% 10W

Question Number : 96 Question Id : 11318 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

i foFdT D FAET § 984T 9T T A 10 A T 3T 9 9fair 10dEm & a

Options:
, % 10037

, » 10003TE

Question Number : 97 Question Id : 11319 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If the residual magnetism of the generator is exhausted.

Options:
= Winding must be changed

o « 10% DC supply of generator voltage should be given to the battery

5 % Check the connections and make the corrections

4 % Change the direction of rotation of armature

Question Number : 97 Question Id : 11319 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

IR ST T F1 Z3M Trahed @A @ Al ¢ o,

Options:

| x TSI F e AT AR |

. o ST FT 10% DC e 4 H &1 =gy
S_Qmmﬁmmwmaﬁq

, w HTER T U e Fee &N =T

Question Number : 98 Question Id : 11320 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



The winding done on the commutator is
Options:

, % Lap winding

> % Wave winding

-  Lap and wave winding both

4 % Neither lap nor wave winding

Question Number : 98 Question Id : 11320 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

PGS T ST A TR — A ¥ |

Options:

, x o9 FrEfE

o % a9 aATSfE

2 o9 3R 3T TEET It
L T8 AT T E T AEfET

Question Number : 99 Question Id : 11321 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following is the BIS sign of Shunt Field Winding?

Options:
Y Y
5, E,
1. )
wf YYYYY
D, D.
o % =
A - A
3
w——a NN NAA
4 ®

Question Number : 99 Question Id : 11321 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fef@g # 4 o fics aeBa Fres R Flg ar &

Options:



Question Number : 100 Question Id : 11322 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

In Fleming's Right Hand Rule, the Thumb represents

Options:
= Direction of magnetic flux

> % Direction of current
= % Motion of field

4 + Motion of conductor

Question Number : 100 Question Id : 11322 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FAHTF I FA F FATARER, e gaar £ |

Options:

| w TR Form Hr feem
. % YT 9aTg i fder

o » &7 #r feemw
szﬁr%srr

4.

Question Number : 101 Question Id : 11323 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which type of motor is used in transport vehicles?
Options:
, « DC series motor

> % DC shunt motor

= % Separately excited motor

4 % DC mixed motor

Question Number : 101 Question Id : 11323 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



qREga ITgAr #F HiAGr HET FT JA@T Far AT § |

Options:

1_\?,[1[:%3412?

. % DCAT AT

. % I TFHSES Al
4 % DCmﬁm

Question Number : 102 Question Id : 11324 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If a DC shunt motor is working at no load condition. and its field winding gets open
circuited. then

Options:
, % Motor will stop

> % Armature winding of the motor burns
- % Motor starts making noise

4 The rotational speed of motor becomes very high

Question Number : 102 Question 1d : 11324 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

IfE DC ART A FT T8 F F W G § AT IEH Fres TEET F afmy
9T T, ar

Options:

| w FIET FE BT A |
L x AT H HHEAT AT S S |

o w AT A A @R
4_¢ma=ﬁq;uﬁﬁ=1ﬁra§?r3ﬁa:g’rm?ﬁ|

Question Number : 103 Question 1d : 11325 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Which of the following faults of DC motor is being tested in the given figure?

BREAK THESE JUMPER CONNECTIONS
AND TEST EACH COIL

E ;
= ‘I’f_:E—'—'-*

240V 500 mA TEST LEADS
NG
NO—O O - s

Options:
1 % Open circuit test

> w Resistance value test for each winding
= % Open circuit test in field coil
4 « Test of grounded field coil

Question Number : 103 Question 1d : 11325 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

&7 g "9 # fae=faf@a & @ oc AT Fr Fia @ T F 901 SR ST @ g

Options:




4 v AT33E HIeg Fisd T

Question Number : 104 Question Id : 11326 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Motors are rated in

Options:
1 ® KW

> % kKVA
3 « H.P.
4 % Volts

Question Number : 104 Question Id : 11326 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FreTHr YR R & B o ¥ |

Options:
1 & kW

5 R kWA

z « H.P.

4%3}'?‘5

Question Number : 105 Question 1d : 11327 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Match the following types of DC motors with their respective points of application using the
given lists

List-I List -II

A. Series 1. Booster set

B. Shunt 2. Elevator

C. Cumulative compound 3. Motor generator set
D. Differential compound 4. Traction work
Options:

1.% A~ B2, -3 D-4

o A-4 B-3, C-2, D-1

3z 8 A-4 B=2 C-3 DbB-1

4 % A-1, B-4, C-3, D-2

Question Number : 105 Question Id : 11327 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



=T DC AR F IFRT F1 3% HJIANN F F AT Fa
LG = 2

A. #oft 1. 9FT W

B. 9T 2. Talldex
CHFFgoIfed FI133 3. AleT Felel HT
D. Fwife Fu3s 4. TFAT FH
Options:

. % Al B-2, C-3, D-4

. v A4, B-3, C-2, D-1
3 % A-4, B-2, C-3, D-1

. % Al B-4, C-3, D-2

Question Number : 106 Question 1d : 11328 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Consider the following. On the basis of number of phases. transformer is classified into
A. Single phase

B. Double phase

C. Three phase

Out of these. Which are the correct statements are?

Options:
1 % Only A

5 « Only Aand C

-z % OnlyBand C
4 % All three

Question Number : 106 Question Id : 11328 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fafaf@a I coa@s 93
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Options:
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Question Number : 107 Question Id : 11329 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Leakage flux in a Shell type transformer. with respect to core type transformer is
Options:
1 « Less
> % Equal
= # More

4 % Cannot be determined

Question Number : 107 Question Id : 11329 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FRETET THFER H ToTr F AT 6T TG F aiheT Forerd
Options:

1.#’“31?"-?
> % & B &
ngaﬁm?
4 % ﬁ‘m‘rﬁr—raﬁ’rmm?

Question Number : 108 Question Id : 11330 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Berry type transformer as compared to others are usually

Options:
1 « Cooland with high power capacity

> % Hotand with low power capacity
= % Hot and with high power capacity

4 % Cool and with low power capacity

Question Number : 108 Question Id : 11330 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

GERI T Tl H, A TET JHBFT HHAAS:

Options:

| 3% T 3o ol AT A @
., % A wF o ofSa arar oy g
T T 3o o e e A g
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Question Number : 109 Question Id : 11331 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Oil blast cooling is generally employed for transformer having capacity

Options:
. % <100kVA

> % <200 kVA
. v “S00KVA
4 % <S00kVA

Question Number : 109 Question Id : 11331 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

3HTEe eee FfeRT T 3iEa &ar & TEeER F fow T & Jar ¢ |

Options:
, % <100 kVA

5 % <200 kVA

= « >500 kVA
4 % <500 KVA

Question Number : 110 Question Id : 11332 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The minimum flash point of a transformer o1l should be

Options:
1 % 100°C

5> % 120°C
- v 140°C
4 % 180°C

Question Number : 110 Question 1d : 11332 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TP el 1 A greeh faig ((Feler T5e2)) - g e |

Options:
, % 1009C

o % 1200C
5 1409C
4 % 180°C

Question Number : 111 Question Id : 11333 Question Type: MCQ
Correct: 1.0 Wrong: 0.25



The following figure represents

Options:
| « Auto transformer

5 #% Current transformer

= # Power transformer

4 % Potential transformer

Question Number : 111 Question Id : 11333 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ferm gam o geiter €

Options:

| 3ifer gremt

b % FIT THFHT
R

| . R T



Question Number : 112 Question Id : 11334 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Clip-on meter uses
Options:
1 % Potential transformer

- % Distribution transformer
5 « Current Transformer

4 % Auto Transformer

Question Number : 112 Question Id : 11334 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

IES LI 1o T g— FT T FIT 2

Options:

|« ERTT TEEET
L  EEIERIA FEEER
5« FE TP

, w IS TEEER

Question Number : 113 Question Id : 11335 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

A acts as a safety relay in a transformer.

Options:
, % Explosion vent

- % Air duct
- % Tlemperature gauge

4 « Buccholz relay

Question Number : 113 Question 1d : 11335 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T TERERH oo T Rer F TE FI FaT ¢
Options:

| » UFHOIEA 9C

o W Ty S9<

3 % CFIGET S

L v Thiea @

Question Number : 114 Question Id : 11336 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a transformer, if the load becomes halved, the copper losses changes by a factor of



Options:
1 *® .

, w172

4 % 1

Question Number : 114 Question Id : 11336 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

U THGHT H 3P &S 3T & 19T 8, 8 JF 819 (F org) 9Rafaa 2em

Options:
1 #® 2

> % 1/2
3. ¢ 1/4

g % 1

Question Number : 115 Question Id : 11337 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

To determine iron losses in a transformer test is performed.

Options:
1 % No-load

- % Over load

z 01)‘311 circuit

4 % Short circuit

Question Number : 115 Question Id : 11337 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

THPHTH wig 310 (3RA W) AT F F oo Far e ¢

Options:

1 ® FIT—?-l’E’
z_ﬁm
3.«?“@’3“

4.33:'.&?”“

Question Number : 116 Question Id : 11338 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Damping in a moving coil instrument is done by
Options:
, « Eddy currents

> ® Air



5 w» Liquid substance

4 % Wooden piece

Question Number : 116 Question Id : 11338 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A ELE I B e - S Zamr g Fr I T
Options:

| o T8 uRIH

o % gdl

. » O dgrit

, % TS FTHS

Question Number : 117 Question Id : 11339 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

COs @ is written on

Options:
1 & Ppower factor meter

> % ammeter

_— frequency meter
4 % Wattmeter

Question Number : 117 Question Id : 11339 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

cos O Fg wwo@r gar & ?
Options:

| AT IOTE AT
5 % AT (Ammeter)

S w SHIERHT HIET
4 % JIEHT (Wattmeter)

Question Number : 118 Question Id : 11340 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A shading ring made up of copper is placed on current coil of an energy meter in order to
Options:
1 « Rectify the power factor

- % Increase frequency
= % Increase power

, % Increase speed disk



Question Number : 118 Question Id : 11340 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FATH TAT TH QT%?TP{?T U=l HET T oanr iﬁ?ﬁ'{currentmil} ¥ I @A
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Options:
| AT IOTE JURT ST T

, x Fled FE S

4 % 35k 7fd &g =T

Question Number : 119 Question Id : 11341 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Deflection torque in moving iron instruments is directly proportional to

Options:
1 % Square of current
o Current
% Square root of current

3
4 % Cube of current

Question Number : 119 Question Id : 11341 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

HRT 3TReT T F R @ A B &

Options:

1.% 'F-THTE‘I-Tﬁ?E
o v U &
S_Wmtréﬁa?’mga‘ﬁ

4 % g F U

Question Number : 120 Question Id : 11342 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The range of voltmeter can be increased by

Options:
1 + Connecting multiplier in series

- % Connecting multiplier in shunt
- % Connecting capacitor in series

4 % Connecting choke in series



Question Number : 120 Question Id : 11342 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Options:
| A0 A H AR ot

. % AT H AT ASH
- » 0N FF F FARWeT T
4w FON FH F TH T

Question Number : 121 Question Id : 11343 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The Power Factor of a Slip ring induction motor with respect to a squirrel sage induction
motor is

Options:

1 ® Less

5  More
= % Equal

4 % Unrelated

Question Number : 121 Question 1d : 11343 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e (e Fam) Wor A H o F o a1 9or Aex v afda
[OTTF:

Options:

1.23“?‘:'?“-?

Question Number : 122 Question Id : 11344 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The shape of stator of an induction motor is like a

Options:
1 % Sphere

> % Cube
=  Hollow cylinder

4 % Cuboid

Question Number : 122 Question Id : 11344 Question Type: MCQ



Correct : 1.0 Wrong: 0.25

Options:

| % TR

- % Hel

5 EIEdT Fe

4 % TATH (FTTTHeT)

Question Number : 123 Question Id : 11345 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

When a rotor in an induction motor obtains its normal speed. then the frequency produced in
the rotor will

Options:

1 % Remains the same
> « Reduces

= % Increases

4 % Remains undetermined

Question Number : 123 Question 1d : 11345 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T WOT AT F Ve FHT S T = ol ¢ of 38H 39 Fgfea:

Options:

|« THA A

. o FHE A E

5 % 9¢ A E

4 % AT T &

Question Number : 124 Question Id : 11346 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A 3-phase induction motor is rotating at a speed of 1200 rpm. The number of poles when the
frequency is 50 Hz is

Options:

1. % 4

2_%6
3.9 3
4 % 8

Question Number : 124 Question Id : 11346 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:
1 *® q

o W B
3¢ 5
4 W 8

Question Number : 125 Question Id : 11347 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The meaning of synchronous speed is

Options:
. % Speed of rotor of an induction motor

> % Speed of synchronous motor

= % Speed of induction motor at no load

4  Natural speed of rofating magnetic field

Question Number : 125 Question 1d : 11347 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Jeg=TTer Aife &1 HAGT T

Options:
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Question Number : 126 Question Id : 11348 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The centrifugal switch is normally employed in
Options:
1 % Universal motor

> % Repulsion motor
-  Capacitor start-Capacitor run motor

4 % Shaded pole motor

Question Number : 126 Question Id : 11348 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 127 Question Id : 11349 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Torque is produced in the reluctance motor with the help of
Options:

; ® Copper losses

> « Hysteresis losses

- % Magnetic field

4 % Magnetic flux

Question Number : 127 Question Id : 11349 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

ReFT AT & Famget (27%) FEhr 7 ¥ 309 g1 872
Options:
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3 ® 2
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Question Number : 128 Question I1d : 11350 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a repulsion motor, brushes are connected to
Options:

, % External supply

> % Stator winding

=  Each other with the help of a jumper wire

4 % Motor only at the time of running

Question Number : 128 Question 1d : 11350 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

SfREUT AeT H AT T ST A1 ¢

Options:

| x RS WS ®
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. v T W U FFR dR H Ace ¥

, % O oI §AT AT ¥

Question Number : 129 Question Id : 11351 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
A motor which does not have rotor winding is

Options:

% Repulsion motor
- % Reluctance motor
= « Hysteresis motor

4 % Stepper motor

Question Number : 129 Question Id : 11351 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Options:

l_ﬁuﬁ?ﬁ&mﬁlﬁ
o oFeH A

5 BEERET AT
4 % TR AT

Question Number : 130 Question Id : 11352 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The given figure depicts a

o— Single phase A.C. supply —=
\

i‘ﬁhort circuited brushes

WL
I} I

(T
TS




Options:
1 « Repulsion motor

> % Stepper motor
5 % Hysteresis motor
4 % Shaded pole motor

Question Number : 130 Question Id : 11352 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

feam gam o a@ffer & |

Options:

| v TSN AT

. % FCIX AT

o« EEREw AT
T dieT AT

4 ®

Question Number : 131 Question Id : 11353 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Following is a characteristic curve of

r jf’_,-———- I)uect-

t. Current
E / Operanion

Spegd

Adternatinge
Current
/ Opcrauon

Options:
, « Universal motor

> % Shaded pole motor

= % Single phase induction motor

4 % 3-phase induction motor

Question Number : 131 Question Id : 11353 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

R g3 R P SHfBETAO A% §7

e
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Eicei

Options:

| » TEEE A
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Question Number : 132 Question Id : 11354 Question Type: MCQ %


IONASSESSMENT
Text Box
*


Correct : 1.0 Wrong: 0.25

Universal motor is used in refrigerators because
Options:

; « It gives high starting torque

> % It provides low torque

- w It provides stable speed
' * Question (Id : 11354) discarded and +1 marks

4 % Its size is compact will be awarded to all the candidates for this
guestion whether the candidate has attempted

the question or not.
Question Number : 132 Question Id : 11354 Question Type: MCQ *

Correct : 1.0 Wrong: 0.25
THIfSeT # Ifera@er AleY 1 54T foham =ar g+t -

Options:

| o T8 39 TR FAEOT () oA e E
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Question Number : 133 Question 1d : 11355 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If the motor winding comes in contact with any iron made part of the motor. then occurs,
Options:

1 % Open circuit fault

- % Shot circuit fault

= « Earth fault

4 % Capacitor fault

Question Number : 133 Question Id : 11355 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Ty Fex AR, AT F o T T TR R F T F WA LA T
¥

Options:
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L O TR
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. « TR A

Question Number : 134 Question Id : 11356 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

is used to cool alternators having high kVA.

Options:


IONASSESSMENT
Text Box
*

IONASSESSMENT
Text Box
* Question (Id : 11354) discarded and +1 marks will be awarded to all the candidates for this question whether the candidate has attempted the question or not.


, % Water cooling

-  Hydrogen cooling
5 % Oil cooling

4 % Air cooling

Question Number : 134 Question I1d : 11356 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

.............. 3= kVA TTor HToclaied I 38T i F FIH 3T ¢ |

Options:
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2.JWW
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Question Number : 135 Question 1d : 11357 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The machine which runs by steam turbines is called as

Options:
1 « Turbo alternator

- % Hydro alternator

- u Gaseous alternator

4 % Vapour alternator

Question Number : 135 Question Id : 11357 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:
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Question Number : 136 Question Id : 11358 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

An exciter provides

Options:

, « DC supply

> % AC supply

s % Both AC and DC supply



4 % Neither AC nor DC supply

Question Number : 136 Question Id : 11358 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T TFHARE] e YeId T ¢ |
Options:
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Question Number : 137 Question Id : 11359 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In DC machines. armature windings are wounded

Options:
1 « On closed slots on the stator

= % On half covered slots of the stator
= # On open slots of the stator

4 % No where

Question Number : 137 Question Id : 11359 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

pc AT F 3= el # FafofEa # ¥ fFg 9T oder Jar &

Options:
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Question Number : 138 Question Id : 11360 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Open coil windings 1s used in
Options:
1 # DC machines

o % Both AC and DC machines
= « AC machines

4 % Neither AC nor DC machines

Question Number : 138 Question Id : 11360 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:

. % DCHEAAT H

o % ACTE DCET Jfar &
5 o ACTHANT &

4 x AR G AT S

Question Number : 139 Question 1d : 11361 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The size of coil in a machine is fixed by
Options:
, #» Commutator pitch

>  Yield pitch
= % Back pitch
4 % Average pitch

Question Number : 139 Question Id : 11361 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fordr ofr 7ol & Frea 1 T —- i fr aer & |
Options:
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Question Number : 140 Question Id : 11362 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If the pole pitch is 8 and the number of poles is also 8. then the number of armature slots
will be

Options:

1 #® 16

> o 64
3_%8
4 %1

Question Number : 140 Question Id : 11362 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

RO = 2§ 31T 9t & gEar off 2§ o 3mfET weel fr g Raar geie

Options:
1 & 16

o o Bd
3.238



Question Number : 141 Question Id : 11363 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

In a refrogressive winding. the value of commutator pitch is taken to be
Options:
1 % 2
- % 0
z ¢ 1
4 % 0.5

Question Number : 141 Question 1d : 11363 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

EHfeT aEET # FFge = # A forr smar 7 |
Options:
1 % 2
2 % 0
zv1
4 % 05

Question Number : 142 Question Id : 11364 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

In electric wiring, rules must be followed.

Options:
1 % Indian Electricity Act. 1954

- % Indian Electricity Act. 1955
-  Indian Electricity Act. 1956
4 % Indian Electricity Act, 1958

Question Number : 142 Question Id : 11364 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

-

Options:

|« IR faega @A, 1954
- » ARG ffega faas, 1955
- e fagga TR, 1956
., % AT faega fas, 1958

Question Number : 143 Question Id : 11365 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Motor starts running at speed due to bearing faults.




Options:
1 « Slow

> % High

2 % Extremely high
4 % Normal

Question Number : 143 Question 1d : 11365 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 144 Question Id : 11366 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The facility of Earth leakage circuit breaker should be provided. if the load
exceeds

Options:
1 # 1kW
> % 3kW
2 o SkKkW
4 % 10kW

Question Number : 144 Question Id : 11366 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

I AT AT ... ¥ J€ A § o TR Tfehe ge dr gier 3uerey #ir
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Options:
1 & 1 kW

o W 3 kW

4 % 10kW

Question Number : 145 Question Id : 11367 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

On the basis of operation of contacts, limit switch is categorized into types.

Options:
1. 2



Lh

Question Number : 145 Question Id : 11367 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FUF F Fat F 3R W), @A Tam a 9FR # Tenfea BT mar § |
Options:
1.¢2
> # 3
z % 4
4 % 5

Question Number : 146 Question Id : 11368 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The weakest spot in a circuit is
Options:
1 « Fuse

- % Contactor
= % Switch
4 % Relay

Question Number : 146 Question Id : 11368 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 147 Question Id : 11369 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following is not a solid fuel?
Options:
1 % Coal

> % Peat
5 « Coal tar

4 % Wood

Question Number : 147 Question Id : 11369 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
Tro@a & & #i9 3T 397 F67 & ¢

Options:
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Question Number : 148 Question Id : 11370 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

When steam is released to turbines, turbines produces
Options:

% Chemical energy

> « Mechanical energy

2 ® Electrical energy

4 % Electrochemical energy

Question Number : 148 Question Id : 11370 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 149 Question Id : 11371 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

protects the penstock from getting damaged.

Options:
, = Forebay

> % Turbine
-  Surge tank

4 % Draft tube

Question Number : 149 Question 1d : 11371 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 150 Question Id : 11372 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The line voltage of RCC tower is usually

Options:
; % 230 Vto33kV

> « 20V to 1000 kV
2 % 230 Vto11kV
4 % 11KV to33kV

Question Number : 150 Question Id : 11372 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

HRAET eTa’t T aEaT Jreedr TH=IT: g g |

Options:
| % 230VHE33kV

5 « 20V H 1000 kV

= % 230Hto 11 kv
4 % 11kvE33 kv

Question Number : 151 Question Id : 11373 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Read The Information carefully and answer the question

If'A + B'means A is the father of B

If'A x B'means A is the sister or B

If'A $ B'means A is the wife of B

If 'A % B' means A is the mother of B

If'A +B'means A is the son of B

Which among the given expression indicate that M is the daughter of D?
Options:

1 # L%RED+TxM

> LTRED+MXT
. %« L%R%D+T+M
. % LED+R%M=+T



Question Number : 151 Question Id : 11373 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

& IS AHAFHT FF FEUHETEF Te AT 2T FT 3] S

afe ‘A + B' T HT E - A, B T Rar g

afE 'A x B' FT HY & - A, B Fr 987 2]

afg'A $ B F 3T T -A, B Fr 9= g

afe 'A % B FT AT g - A B Fravg

afg ‘A + B & HT § - A B FT AT 2

AR A T sler @ g gFa Faar g & M, D HFrgir g 2

Options:

 x L%RSD+TxM
,oL+RSED+MxT
L%R%D+T+M

o R

,sLSD+R%M=T

Question Number : 152 Question Id : 11374 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Pointing towards a boy Veena said “he is the son of only son of my grandfather". How is
that boy related to Veena?

Options:
1 % Uncle

>  Brother
= # Cousin

4 % Grandson

Question Number : 152 Question 1d : 11374 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T F T FEF FT 3T FAN FI Fmai%"a's’ﬁi'mm#ngﬁﬁﬁ%aﬁ
der §'| T ¥ 37 FS FT FAT g9 g

Options:
g % T

z.w?m_é

qraT

4 ®

Question Number : 153 Question Id : 11375 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



In the following questions, select the related number from the given alternative.
11 1
o

T T O
Options:
1
1. % 127
1
> 169

4 % 120

Question Number : 153 Question 1d : 11375 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

o geat &, v oiv fAsrear # ¥ gafog g&ar &1 9399 Fi|
1 1.4‘_-

7 N I

W

Options:

2 % 125

1
4w 120

Question Number : 154 Question 1d : 11376 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In the following questions, select the related number from the given alternative.
64: 144 :: 256: 7

Options:
1 & 16

> % 32
=« 400
g w 336

Question Number : 154 Question 1d : 11376 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

AT g9aT 7, BT 71T fFaeur ¥ §aeg AT &1 I3 F{|
4 = 144 - 25h =

Options:



, = 16

5 ® 92

5 400
336

4 %

Question Number : 155 Question Id : 11377 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The following question consists of two words each that have a certain relationship to each
other, followed by four lettered pairs of words. Select the lettered pair that has the same
relationship as the original pair of words.

Friendly : Inimical

Options:
, % Lithosphere : Hydrosphere

-  Condemnation : Approval
z % Abstain : Refrain

4 % Disappointment : embarrassment

Question Number : 155 Question Id : 11377 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

S fow a1 yeat 3 o 09 oreq RU §, TS 3TH F TS YH & HIS G g1 Asqr
Hel SISt &1 €1 a¥g A o arel Hgl oS & faU v fahedt A @ ool

i
FHedhel: Hlicdhel
Ty

™,

Options:

ryaAsa(rUiTh): S9AvsT (TSSITRR)

1 #

Question Number : 156 Question Id : 11378 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The following question consists of two words. each that have a certain relationship to each
other. followed by four lettered pairs of words. Select the pair that has the same relationship
as the original pair of words.

Hermit : Solitude

Options:

1 % Warrior : Civility

- % Traitor : Loyalty

3 o Ascetic : Self Denial



4 % Researcher : Finding

Question Number : 156 Question Id : 11378 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A U v 9o H or oW oeg v ¥, o9 39 # UF 9N FT FS HET g
Aedl F AA AT Fr & TE FAF HIY I W A3 F AU A0 Rpedt A & T+
/Y : THid

Options:

1%EI>|ET:F3-TJ?|T

2_é,@g'n"li'ﬂ':El"GI'TI?.'I'4.°f
. o TIEI STcACHE
, w drgEdr G

Question Number : 157 Question 1d : 11379 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a cycling race. 5 participants from various nations Chinese. Nepalese. Indian. Iraqi and
English take part. Track 1 is extreme left and track 5 is extreme right. The following
conditions exits.

1. The Nepalese and English are not cycling adjacent to each other.
2. The Iraqi 1s not in any of the extreme tracks.
3. The Chinese is to the left of the Indian

If the Nepalese is in the track 3. the Chinese is in the track 1. then the Indian could be in

Options:
1 w Track 4

- % Track 2
2 « Track 2 or 4
4 % Track 2 or 5

Question Number : 157 Question Id : 11379 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

vs @i dis #, Affew ot & 5 gfasmefr, e, Fureh arda, sudr 3t
FAST #07 Ad §1 &F 1 fegs aeft avw ¢ 3R &% 5 arfeelr v @

e ord @ g g

1. A9relr AR 33 & gl & e asfre ame= @ &7 ®/ 81

2. ST TH ¢ H o TRET # A48T 21

3. AT ARAT F i AW T

R AN SF 3 AL TN SF 17 AT Fo s T gsar g ?

Options:




Question Number : 158 Question Id : 11380 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a cycling race, 5 participants from various nations Chinese. Nepalese, Indian. Iraqi and
English take part. Track 1 is extreme left and track 5 is extreme right. The following
conditions exits.

1. The Nepalese and English are not cycling adjacent to each other.

2. The Iraqi 1s not in any of the extreme tracks.

3. The Chinese is to the left of the Indian

If the Iraqi is to the left of the Chinese, then the Iraqi could be in

Options:
1 « Only track 2

5 % Only track 3
5 % Track 2 or 3
4 % Track 2 or 4

Question Number : 158 Question Id : 11380 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

vs gEferer 2z #, Affew ot & 5 gfasefr, el Fureh ardm, sudr st
IS #07 od 21 3% 1 foge st @ 2 3R & 5 aifeeh O 2

f= ord @ gt 2

1. dA9TelT 3R 33 TF @l & e TEfre aea A8 aX @ 2|

2. ST A ¢ A © TordT & 78T 21

3. Hr SRET F T AR E

ST R e & i s, o s e B A @ e ¥

Options:

1_$a=—cmaa:2

Question Number : 159 Question Id : 11381 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
In a certain code language 461 means 'where are you' . 169 means "you are good' and 8652
means 'flowers are not bad".
How will 'are you where' be written in the coded langunage?

Options:

1.+ 614
o % 163
s % 618
4 % 168

Question Number : 159 Question Id : 11381 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

THARTT FIZ AT H 461 1 30T 'where are you' & 169 Fr 313 'you are good'
3T 8652 F 33 ' flowers are not bad'
ar 39 FIF 4191 F ‘are you where' Fr FI e

Options:

| « 614
163

> R

618

= W

, % 168

Question Number : 160 Question Id : 11382 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If in a certain code language 'where are you' is written as 'ko to po ha'; 'you are very
beautiful' is written as 'na po da to' then how will 'there' be written in that language?

Options:
1 % da

o o 83
z % Ka

4 % Data inadequate

Question Number : 160 Question Id : 11382 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

THhiATad HI ATST H ' where are you' &I 'ko to po ha' for@r =mar &;
'you are very beautiful ' # 'napo da to' Tor@r =Tar g ar,
3T 9T H 'there' &1 & or@?

Options:

| x da

Evﬁsa



o x Ka

, « FIATST 3HTHS

Question Number : 161 Question Id : 11383 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Find the missing number.

O

Question Number : 161 Question Id : 11383 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

9T TEAT @it

Options:

1_%19

Options:

1 % 19
> % 29
3 o 18
4 % 48

29

o R

3.\&??8

4 % 48

Question Number : 162 Question Id : 11384 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Find the missing number.

| 35 43 28 45

40
%A N\ 16

Options:
| % 25

> # 28
3%35
4 & 38

Question Number : 162 Question Id : 11384 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

CIEGIR:E K C ]

135,/ \43
40
20 28
Options:
, % 25
5 % 28
3 % 39
4 @ 38

Question Number : 163 Question Id : 11385 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Below is given a figure with four intersecting circle, each representing a group of persons
having the quality written against it. Study the figure carefully and answer the question that

follows.
: Enterprising
| aborious ‘ L
w |

i Studious
Disciplined

The region which represents the people who are enterprising, studious and disciplined but
not laborious, is denoted by?

Options:

1. v Q
> % P
3. % S
4 8 T

Question Number : 163 Question Id : 11385 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

;ﬁ#amﬁm@ﬁfﬁm@m(wqmﬁmgﬂ)ﬁ,mm-m
THEr #F AT §, o qUr gea & wEwe O g ) agpla 1 ewmEE
mm?mmmammm

AgIdr (laborious)

3IAT (Enterprising)

g (Studious)
HAMAF (Disciplined) |

ar & AT 3 S F gATar § S AEACT ALl ¢, b 34 H aEhr F AT T

Options:

1.9



4.WT

Question Number : 164 Question Id : 11386 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Below is given a figure with four intersecting circle, each representing a group of persons
having the quality written against it. Study the figure carefully and answer the question that
follows.

Enterprising

Laborious

st Studious
Disciplined

People who are laborious and enterprising but not studious and disciplined. are represented

by?
Options:
pow M

2_%1_\1
S_WP
4 v K

Question Number : 164 Question Id : 11386 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

oA & TR ST F IR FEHTHRT (T gE FT FEd gU) Iod, TR A3
It F g E, owE qur o7 F wEwe o gu B ampfa F eamEE
HEATS FIJ g foU T 99 FT 3 &

AgAdT (laborious)

3¢TAT (Enterprising)

T (Studious)

HIf&a (Disciplined)

3T 8T ST 37 A F AT § S sremaeler R aeenfa A & fe agea
AT segFde g

Options:



M

1 %
2.WN
S.WP

4.%—""{

Question Number : 165 Question Id : 11387 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the answer figure 1s exactly the mirror image of given figure. when the mirror 18
placed in line AB
Ayt B

(@ () () (4
0 gnsa:

>« b
3_%":

4 % d

Question Number : 165 Question Id : 11387 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

S guur # 9fFd A B # T@r Seen ot faefaf@a ved & Sl sew el
T THia F guor wiafass gefh

A wuiiiiy B

Wl

—
f—
—

@ ® @© (@
Options:
. % @
> v b
5 % C
4 % d

Question Number : 166 Question Id : 11388 Question Type: MCQ
Correct: 1.0 Wrong: 0.25



Which of the answer figure is exactly the mirror image of given figure. when the mirror is
placed in line AB

A cezveeereeee B

5 RBRE

@ O © @

Options:
1 % 4

>« b
S_WC
4 % d

Question Number : 166 Question Id : 11388 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

S 9T F 9fFT A B # 1@ Sen ar Tefaf@a ged # FiA-H seaw i
Te HTHid w1 guor Sfafera gt

A prniny B

] R

(@ ®) (@© (@

Options:

Question Number : 167 Question 1d : 11389 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In the following question a part of the question figure is missing. Find out from the given
answer figure (a), (b). (¢). (d). that can replace the '?' to complete the question figure.

Options:



1.¢ a
> % b
3_%12

4 % d

Question Number : 167 Question Id : 11389 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

fr=faf@a g2 # (a), (b), (c) 3R (d) F & Fla-d 3cax 3, T 3Pl
(X) & 2" i g AR BT Fr @ FE 2

e —————

c) {d}

f,‘, HE_JJ

Options:
R
> % b
3 % €
4 ® d

Question Number : 168 Question Id : 11390 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In the following question a part of the question figure is missing. Find out from the given
answer figure (a). (b). (c). (d), that can replace the '?' to complete the question figure.

? Vs XI

@ (b © (d)

Options:
1.+ a

> % Db
S_WC

4 % d

Question Number : 168 Question Id : 11390 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



fe=faf@a g2 # (a), (b), (¢) 3R (d) F & FIF-8 3caX FFa, Tod IS
(X) & '?' & So1g A BAEST F @ FAr 82

? ]

@ . (b () (d)

Options:

1.%’—"&

z.ﬁb

S.WC

4.$@d

Question Number : 169 Question Id : 11391 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Following series consists of six figures, two of which at the ends are unnumbered. One of
the four numbered figures does not fit into the series. Find-out the figure.

L TR o |

__|

Options:
1 & 1

2_%2

3.*«-""3
4 % 4

Question Number : 169 Question Id : 11391 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



feafatd si@er 6 apfaar ¥ o= €1 3@ & 2 R | o=l 3l 1 g
et ALY g1 9N Fpfaan 1, 2, 3, 4, H @ Fla @ vF 3pfd 7 g@enr 7 e

] T} g

1 2

Options:
1 % 1
2 ® 2
3.v 3
4 %4

Question Number : 170 Question Id : 11392 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Following series consists of six figures. two of which at the ends are unnumbered. One of
the four numbered figures does not fit into the series. Find-out the figure.

+ [ #» V4 -

| O = = ¥ O @ 7

¢ = 0 .3 £

1 2 3 4

Options:
1 & 1
> 2
z ® 3
4 % 4

Question Number : 170 Question Id : 11392 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



fafoi@a s@er 6 ampiaal ¥ =T &1 4T & aar B 9 F=41 3MHid H s
Y FET €1 AR A 1, 2, 3, 4, H ¥ Fiad O Uk AT 57 @1 7 fihe
e gl

+ ] * 7 !

- 0 = = % O O 7

0 = 0 H O

1 2 3 4

Options:
1. % 1
> v 2
3 ¥ 3
4 ® 4

Question Number : 171 Question Id : 11393 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Gandhi undertook the longest nationwide tour of his life known as the

Options:
1 % Dandi March

> « Harijan Yatra
- % Non- Cooperation March
, % Anti- Rowlatt Act Campaign

Question Number : 171 Question Id : 11393 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Iefist & S T TsceaT Fad SR T FiT AT 7

Options:

1.$3E"--I_E'P“':|-EEr
, o BN AT

- » FTEAET AT
ﬁﬂﬁzmﬁﬂtﬁmﬂ

4.

Question Number : 172 Question 1d : 11394 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
Who organised 'Abhinava Bharat'. a secret society of revolutionaries?

Options:
| % Khudiram Bose

> % Prafulla Chaki
= « GD Sarvarkar

, % Pulin Bihari Das

Question Number : 172 Question 1d : 11394 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

st '#fHea aRE ATAS FIARIET & T I[od FATS S FATSA T o7 ?
Options:

- Erci’rm:_1 CIps)

o % EP

=94 =T T

e faErdr e

4 ®

Question Number : 173 Question 1d : 11395 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following institution is related to export financing and insurance?

Options:
1.+ ECGC

5 % GAIL
- % CBDT
, » IDBI

Question Number : 173 Question Id : 11395 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

frafafaa goamst & @ =7, B foaawor it @ s @ gea 22

Options:

Question Number : 174 Question Id : 11396 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

What are 'open market operations'?



Options:
% Activities of SEBI - registered brokers

> % Selling of currency by RBI

5  Selling of gilt-edged securities by the government

4 % Sales of share by FIIs

Question Number : 174 Question 1d : 11396 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Gl ST Il &2 -4

Options:

1, » SRR = Sl SRl N
o % SR =T 3% Zanr JEr F =
5 o TP &N mm'”"gqﬁgﬁaﬁm
el Feue e g@m S R

4.

Question Number : 175 Question 1d : 11397 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which one of the following states is the largest producer of black pepper in India?

Options:
1 % Tamil Nadu

5  Kerala
= % Karnataka

4 % Andhra Pradesh

Question Number : 175 Question Id : 11397 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

=g =gt # @ Si9 9g & Fer & F7T @698 997 39ES g7

Options:

1 % ="

A

o

3 ® FAICH
T 9o
4 ®

Question Number : 176 Question Id : 11398 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The river with highest tidal bore in India is -
Options:



1 = Cauvery
> % Mahanadi
5  Hoogli
4 % Krishna

Question Number : 176 Question Id : 11398 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

SRS TEY 3= S9R ST arer 78 g

Options:

| wx FEO
2 ® E :
S.JW

h=UTT

4 % <

Question Number : 177 Question Id : 11399 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Uttrakhand came into existence on-

Options:
; % November 1. 2000

5 « November 9. 2000
- % November 10, 2001

4 % January 1, 2008

Question Number : 177 Question Id : 11399 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FeauEs fFr aw A F aar ar 2
Options:

, » 1 =T 2000
9 FFFEY 2000
2 v

. % 10 sF=T 2001
, » 1 ST 2008

Question Number : 178 Question Id : 11400 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which among the following has the power to regulate the right of citizenship in India?
Options:
1 % The union cabinet



-  The parliament

5 % The supreme court

4% The law commission

Question Number : 178 Question Id : 11400 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Trfafed & & Fia R § aFRET & AwR F PEfd & & o
L

Options:

1.$3+ ‘ 1

>

3 % Emaﬁé
, s TETEr TR

Question Number : 179 Question Id : 11401 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Arrange the following electromagnetic waves according to their decreasing energy and
select the correct answer

Options:
| % IR, UV-rays. X-rays. Gamma rays
o Gamma rays, X-rays, UV-rays. IR
z #% Gamma rays. UV-rays. X-rays. IR

4 % IR. Gamma rays. UV-rays. X-rays

Question Number : 179 Question Id : 11401 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

frfof@e Rega TFah aE fr aae 376 7 & W@ FA1 F HJaN FL
AR FEr 3eaT F AT F

Options:

| FTSIR, T FTOn, weRw ¥, AT fRvon
, o T YT, TEE-Y, I fRTOT, e
Slwmw,qﬁw,mt HTEHTT
4.%a¢m,mﬁ?{ﬁ,aﬁw,mmﬁ

Question Number : 180 Question Id : 11402 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
If the spinning speed of the earth is increased then the weight of the body at the equator
Options:

, w Increases

5  Decreases

z % Doubles

4 w Does not change

Question Number : 180 Question I1d : 11402 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

3R gt Fr goia afa FF Fe fomm S At gEew W WA 7 oaew

Options:
| x 9 ST @

2¢¢H§Tﬁ|d|§'

- gIRTAT &1 AT &
" qiadsT STl g T &

Question Number : 181 Question 1d : 11403 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which one among the following chemical can be used to clean the surface of gold
ornaments?

Options:

, w» Concentrated sulphuric acid

. % Concentrated sodium hydroxide
3 Aqua-regia
4 % Sodium thiosulphate solution

Question Number : 181 Question Id : 11403 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

fFefaf@a & @ &g taas &1 939 diF F Tgat Fr Tag S T FA H Ear 27
Options:
| Howd& Ufas

1 &

.« TI% WEEH FEgess
. o T S
4%3@%'&1?211'&1?@1—6%



Question Number : 182 Question Id : 11404 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Food wrapped in newspaper is likely to get contaminated with
Options:
1 % Aluminium

> « Lead
z ® Iron

4 % Magnesium

Question Number : 182 Question Id : 11404 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

3@ER # fo9e @ey gerey #ir ¥ T & e FHr FerFaT g 2

Options:

T HETH

1 & o

2_\,{,,;31‘5':
S.QW
HAAfErTs

4 ®

Question Number : 183 Question Id : 11405 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following commercial form of hormone is used in sterling cows to induce
lactation?

Options:

, ® Thyroxine
5 « Oxytocin

5 % Vasopressin
, % Relaxin

Question Number : 183 Question Id : 11405 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fr=of@a 7 ¢ gfala =1 3¢ caauEs & Fi9 a1 &, S = a7
Iy TEA H ARG g TAET Fm g

Options:

. AT
g

o

1.



Question Number : 184 Question Id : 11406 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following hormone has a stimulatory effect on the heart?
Options:

1 # Estrone

5 % Erythropoietin

= % Thyroxine

4 « Epinephrine

Question Number : 184 Question Id : 11406 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T=fafag el 7 3 FiF O 587 W vF 3395 999 =ear 87

Options:

Question Number : 185 Question Id : 11407 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

With which sport is the 'Choudhury Trophy' associated?

Options:
1 % Golf

5 o Circumnavigation of the earth by car

- w Formula One racing

4% Buggy- Jumping

Question Number : 185 Question Id : 11407 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

ey SEr frw T @ wERE 32

Options:

1. ® e
, » PR ZART Ll FT TFHT TMH



Sﬁmﬁﬁw
, w Fef- ST

Question Number : 186 Question Id : 11408 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

First summer version of youth Olympic game was held in
Options:

, % Japan

> % China

= % North Korea

4  Singapore

Question Number : 186 Question I1d : 11408 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Areq gar AT Wl F Ggel HERIUT FH AAS Fgl T fomar amar ar?

Options:
i x Sl

5w o
S % 3eal HIAT
HemaT

4 2

Question Number : 187 Question 1d : 11409 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Michael Ferreira is associated with which of the following games?

Options:
1 % Chess

5 « Snooker
4 % Cricket

Question Number : 187 Question Id : 11409 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

mmmm@Hﬁ@g%?

Options:
p w AT

o TR
3 % °NcH



4%1%"%_‘:

Question Number : 188 Question 1d : 11410 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

How many cities are chosen for AMRUT project. launched by Prime Minister Narendra
Modi?

Options:
1 #® 100

5 & 500
s % 750

4 % 200

Question Number : 188 Question Id : 11410 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e Rt F g &1 F JUFHET g AR SER € AMRUT 9@ & e gar
T 82

Options:

. % 100
. » 500
. % 750
, ® 200

Question Number : 189 Question Id : 11411 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Name the president of Tanzania who visited India recently
Options:

, « Jakaya Mrisho Kikwete

> % Abdelaziz Bouteflika

5 % Tun Abdul Razak bin Hussein

4% Mohd. Najib bin Abdul Razak

Question Number : 189 Question Id : 11411 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

g & # 9ART &7 2T Fia Ik JAfaar & Usgfa T 17 &1 82

Options:

1_¢m:{al’rw
. x HeGol 3T SiEToFererr
. 37 {dlmﬁ’l?rgiﬂﬁ




, x A T & g T

Question Number : 190 Question Id : 11412 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Recently Asian Development Bank announced to increase about 50 percent loan to India to
$12 billion by

Options:
, = 2016

5 % 2017
3 « 2018
, % 2019

Question Number : 190 Question Id : 11412 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

g A RIS Sgaadec ds A ag awor Hr F ¥ F 9rg F BIAr I Gren
RUT =T Siaera da1 #T $12 aforma v fgar amoemn|

Options:

. % 2016
o % 2017
. » 2018
. % 2019
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Question Number : 191 Question 1d : 11414 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

HIadr & T B § 79 &7 2

Options:
| » U8 FAA HHS gl

, » J€ HIA TS g
4_%1133:11334::'4'&'@

Question Number : 192 Question 1d : 11415 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FiaaT H Togr T HEITHEGS el
Options:

« 3§
z_gmﬁﬁumaﬁm
. x AT &

=

4 ® mmm’%@

Question Number : 193 Question Id : 11416 Question Type: MCQ
Correct: 1.0 Wrong: 0.25



T 3R Foeugar F T TEEe g

Options:

| v WER AEA B

Question Number : 194 Question Id : 11417 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Og & I § FHiaar &1 T
Options:

o R e

. » FISC Er g
, v Fed F 3T IR Far g

Question Number : 195 Question 1d : 11418 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

aTST T T fFTehT 39 g

Options:

5 v B H
, « GEH TS &
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Question Number : 192 Question 1d : 11415 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FiaaT H Togr T HEITHEGS el
Options:
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Correct: 1.0 Wrong: 0.25
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Question Number : 194 Question Id : 11417 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Og & I § FHiaar &1 T
Options:

o R e

. » FISC Er g
, v Fed F 3T IR Far g

Question Number : 195 Question 1d : 11418 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

AT & T fFTesT 39t 2

Options:

5 v B H
, « GEH TS &

Question Number : 196 Question Id : 11419 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 196 Question I1d : 11419 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 197 Question Id : 11420 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

s FA-TT o0eE FHEEEF TIT G B

Options:

1. % I
g_a?l'UT
5w @
4_¢ﬁ:=r

Question Number : 197 Question Id : 11420 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

$AH PIA-AT e HHgAEF Tad el ¢

Options:

1. %

z_ﬁm
o % g9
4_Jﬁ1q

Question Number : 198 Question Id : 11421 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e el a9 g @ # g g

Options:

I.WE

o ow ﬂn(_'r
SJE-Q‘:!“H
. drsrew
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Question Number : 198 Question 1d : 11421 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



reaT T a9 R @ F T B

Options:

; % GIEH
o % T
SJE-%H
y SreTcH

4,

Question Number : 199 Question Id : 11422 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

F=o U2 9T HIAT FT HT

Options:
| % FHAAR ¥ A Fr AT FLAT

. o Ol T H FH 7 H

- F ST FTH FLAT
.« FEATIOT FE FIAT

Question Number : 199 Question Id : 11422 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

F=d U 9T HIAT FT 3T 2

Options:

, % FHSAR ¥ A FHr HIET FAT
. o Ol T H FH T HE

- F ST FTH FIAT

, « T F aw

Question Number : 200 Question Id : 11423 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FIT-AT AqFT YS 27

Options:

| o TEEAREHAAE U giids T g
, » THERT AAE T OTAS a9 g
. » TH IR AFE TF giAE A g
w:‘maﬁ?rmwanﬁmwm
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Question Number : 200 Question Id : 11423 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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